
.. . . ' 

Assembly Instructions For The Poly End Table & Coffee Table

Tools Needed For Assembly 
7/16"' Wrench 
7 / 16" Socket 

Parts List 
Table Top (1) 
Leg �mbly (1) 

Step 1 Lay out and identify all the parts and pieces. 

Step 2 Lay the top upside down on a clean surface. 

Hardware 
l/4"x 2-1/4" Hex Bolts (2) 
1/4" Washers (2) 
1/4" Lock Nuts (2) 

. Step3 Take the leg assembly and line up the holes on top of the legs with the 
holes on one end of the 1 "x2" braces on the bottom of the table top. The 
leg assembly fits inside the r'x2" braces. Put the 2-1/4" bolts through 
the holes in the brace, and through the holes in the leg assembly. Put on a 
1/4" washer & 1/4" locknut and tighten with the wrench and socket. 
(Do not overtighten the nuts or the table will not fold up). The 1 "xl" 
brace on the other end of the legs latches inside the brace on the bottom 
of the table. 




